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0 DEAMAE SARE A X
1,500, 000& 13l 1,500
OHXE=E AS2 Hel sSHAA 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
04 QIZFHALAIH E = 20,000 20,000 0
O NEsaE #F32 Hel sH N
20,000,000& =13l 20,000
EAL XN 2e 236,661 42,342 194,319
= 95,300
Al 45,000
- 96,361
ANE HYUEZE XM 41,463 32,144 9,319
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=EHIY 2ES A& W& 38,313 29,134 9,179
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201 £B-2d| 10,383 5,474 4,909
01 At 22l 10,383 5,474 4,909
© gEt==EH| 8,770
O BHND o BHAS +HADE A 1,170
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O 2594 A 2D EXE MH
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02 X 14,400 12,000 2,400
O MEE L BHHE ASBRE A
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203 YR =&t 630 560 70
03 MM FXH S =AY 630 560 70
O fMXE 22 =& 700,000& «14+0.9 630
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AME MY Ma 70l
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O 62 9,886% *34A| 2t+3H <122 12,101
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